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Gas cutter L 1

Q 1) The principle on which gas cutting of steel is based is ........... /forg Rigia iR Wd &t
T4 ders e 8, a5 Risid 3....

1) Melting of steel / T BT fTea-T
2) Oxidation of steel T BT SHTRITHT
3) Reduction of steel / & 1d &7 &

4) Casting of steel T Dt ng

Q 2) Steel workpiece to be gas cut is first heated to a temperature Just below red-heat. This

temperature is called ......... W%Waﬁﬁﬂﬁ hIcCH ﬁ H‘éﬂ NI Eﬁﬁ@uﬁaﬁ@ﬂﬁ
de T foraT STTa § | 39 ITOHT & ... HEd |

1) Initial temperature /RIS JaHH

2) Ignition temperature BPEEILIE]

3) Initiating temperature ARt auaE
4) Indicating temperature / b dTUHTT

Q 3) Which gas is said to be fuel gas? / foog ﬁg Cal E'EF-[ ?m Del Sdl %?

1) Acetylene /Qﬁlﬁ?ﬂ:f

2) Oxygen /3Tt

3) Both acetylene and oxygen / HTRfIo 3R uffee =AE]]

4) Neither acetylene nor oxygen /-1 uRfee= 3R A HEEICRISE]

Q 4) Figure below shows a consumable steel pipe, which is added to gas cutting equipment
and oxygen passed through it enables piercing very this pieces. This is called Wait| fau g

= & T IUTNT & A K UISY B SXITAT T B, ol I pid 3

1) Oxygen lance /3{TRISH o
2) Oxygen jet /3RS Sle

3) Oxygen spray /3T
4) Oxygen flash/3{TaTSI PRE

Q 5) If carburizing flame is used for preheating, what will be its effect on steel workpiece? /

W@W%WW@W@WWWW,@WWWWW
T B2

1) Speed of cutting will be increased/ ng GRS a% 1l
2) The cut edge will be clean/@cT g3 RRT AW gRT
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3) The cut edge will become hard on cooling /SST 8H R Fal Rl R H Sl B STE
4) There will be no special effect/ ?ﬁ_st 3R Tl ghl

Q 6) Any oxy-cut through a plate other than right angle (figure below) is called .......... Eic|
ST T o & SR, TP W R HDHIU o Sdrdl dis Ht HTRf-He e g.....

= “aem)

i

1) Slope cut /Y e

2) Taper cut TR HE

3) Bevel cut CENETS

4) Inclined cut /PTg3HT

Q 7) The process of cutting a groove along, but not right through a piece of steel is called

1) Flame piercing /I ﬁ'Qﬁf’T
2) Flame digging /e faf
3) Flame gouging

4) Flame slotting [T QT

Q 8) It is relatively difficult to cut a thin piece of steel. But if a number of thin sheets are
clamped tightly together, they may all be cut at once by a process known as ..... [ &

Tddl Shs @ dIeHT SUETHd HidH g | Al 3R Hg gdah d1aRl &l Hd

1) Group cutting/qU BT

2) Multiple cutting /AT BT
3) Series cutting AR i

4) Stack cutting RSP BT

Q 9) Figure below shows teeth of hacksaw blade. Angle B is called as .../ BIE] aniQ T fo

A 8Nl &€ & Gid [G@U L G| PV B DI ....... HRT ST 5 |
i

1) Clearance angleﬂ?ﬂ?ﬁﬁ T
2) Lip angle /e i
3) Rake angle R TTd
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4) Point angle /dise TTd

Q 10) What is NOT true about cold chisel shown in figure given below? / TRfeumu g
faams 1% 331 &+t & IR o o1 99 el 52

b

]
~\|

/n'

¥

f

1) It is used for rapid removal of metal/dg YTq CAREGEA ?ﬁﬁ I _Ef?lef & HTH 3Tl %

2) It is used before filing wmn umsiEiu & qsa ﬁ’TCITGl'IT'lT%

3) It is used for cutting shoulders and corners /QIPI I Sy 3R B FHled & forg
foraT ST 8

4) It gives very fine finish / Ug dgd 33t i a?ﬂ %

Q 11) The part of a file which goes into the handle is called ........... /TS 1 98 HET Sl

CENEESIG S P FEd gl
1)Heelf6gl?f

2) Tang Il
3) Face Jexs|
4) Point /UTgC

Q 12) Acetylene cylinder is painted ................ /afafeed Rifeiex aﬁSFWﬁWG'IﬂT%

1) Black /eIl

2) Maroon /H¥®>
3) Blue /AT
4) Red /<lcd

Q 13) Which statement is NOT true about oxy-acetylene welding? /W—leéam afegT
& fawg & B 1 By 9 el 32

1) It is faster than electric arc welding /d& gﬁ%aﬁ 3d AFETI AT B

2) It is easier to control than electric arc welding@’éﬁ%}ﬁ 31 ST B KL | 3@
EREREZEIINIGES

3) It is popular for general maintenance work /dg HTHI- MR W[d FHFHD %I'Q ABg

%) It is used for brazing and soldering /SYPI I ST 3R T %ﬁ“lﬁ foar Sman

Q 14) For complete combustion, the volumetric ratio of oxygen and acetylene is ..../ q:Uf

38 & forg, sifaier iR ufifeei= &1 smuat sruTa © ..

1.5:
2)2.5:
3)3.5:
4)45:1

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=51 3/32

—



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=51

Q 15) Two oxy-acetylene flames are shown below. Name (a) flame on the left (b) flame on

the right. /ﬁm—mﬁﬁﬁ:ﬂﬁaﬂ%ﬁ%l WW@@F&CG‘hTa%ﬁW
(aﬁ)gjésh?ﬁW|

ol X
ggr' ﬁf_ﬁ -2
|
e

e o
e

1) () Neutral (b) Oxidising /(a) g (b) &naltﬂ@'%m
2) (a) Carburising (b) Neutral /(a) Oblgilsl\ri‘l (b) Ycd
3) (a) Oxidising (b) Carburising /(a) &na@@g%m (b)
4) (a) Carburising (b) Oxidising /(a) W@‘Igﬁrm (b)

Q 16) Backﬁ%e in a blowpipe may be caused due to .............. /it H SHBRR ..... B
EERR

1) Touching the tip against the work /TH & favg fea &t ol

2) Overheating the tip feu T 3ifde T BT

3) Operating the blowpipe at lower pressure than that required for the tip used @ﬁma fou
7Y feu & for 3a=as gaTa ¥ &H &a1d W Hid! gaT

4) All of these /3 T

Q 17) Which of these metals has the lowest melting point? 2TH 9 T Yrg b1 UNEICT
e HH 52

1) Aluminium /TGHITH
2) Brass :

3) Bronze IRl

4) Copper IGIEL

Q 18) The system of storage of cylinder as shown below is called ..... ISIE! aniQ g ICEE:D
STAR ﬁri%ltc;? & H?,WUT & e & R Hgd 77

g ﬂ '..-'u

ESe j
7).

m‘k -
e,

1) Group system / JU e

2) Manifold system A Red
3) Series system MRS Rieeq

4) Parallel system Raq Ren
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Q 19) Water added to .................... will produce acetylene. /....... o g e R eRifeeE
N I &

1) Calcium carbide Casit| W'TET‘-‘I
2) Calcium sulphate /B feRH Tathe
3) Calcium carbonate /IR FHTEHe
4) Calcium chloride /iRy ?ﬁﬁTlg_&'

Q 20) Electrolysis of water is one of the methods of producing oxygen. Which statement is
NOT true about this process? / qﬁ@ﬁ?ﬁ?ﬂq e, eRilo IdGH & d_idl 4 I
TF 21 39 URPT & SR & M I1 HU= 9 TeT 87

1) In this process, direct current is passed through a solution of water contalnlng caustic

soda/3T TfehaT H T SR Fifeds TreT o fhreor § e fagyd varfed &1 St 8

2) It is cheaper than the method liquefaction of air / g fafer gdl B WUT fafer @ It %
3) It is normally used when both oxygen and hydrogen are needed in the industry/S¥ fafe
gr?ﬁu%h&mwaa BIdT & Ofd ST H SIS 3R gIZSIoH aIHl &1 aadsal

4) In this process, hydrogen goes to the negative po }];m e and oxygen to the %osmve pole/S™

UfehaT H, gIESIoH 19 $Uls R 3R SHTR{SH T TS WR o1 gidt

Q 21) Which statement is NOT true about water-to-carbide acetylene generator? Iik]

Plass e TRIfeH I & IR H DIF T HYT I Tal 82

1) Its initial cost is low Eﬂaﬁ URIN® dRTd HH %

2) It produces more sludge / = 3 ﬁﬂ‘s’ I4A gIal %

3) It consumes less quantity of water/ STH O &1 @Ud &H gl %
4) It is easily transportable /B AT Y Pal W o ST ST Hehal %

Q 22) A welding transformer has two coils. The coil which is connected to main supply is

called ......... / AT TAHIR & g1 Higc gidl ¢ | Sl Pisd T SMYff I ST gl &

1) Primary coil /YA digd

2) Secondary coil fedras a'T\IIT’Q'F[

3) Intermediate coil / g‘c’?ﬁﬁ%qa ﬁga
4 Auxilary coil / TgTI® Digd

Q 23) Name the type of weld shown in figure given below. A aniQ MRAATdE %
o] AlH ddly

1) Fillet weld /fthdie 98
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2) Butt weld /3¢ 968
3) Corner weld [BTR AT
4) Edge weld /TS 4G

Q 24) What is the position of welding as shown in figure given below?/-Td GQIiQ g e o
afed o Rufa T g2

1) Flat /AUCT

2) Horizontal / aﬁ\_ﬂ

3) Vertical /diddd

4) Overhead MRRFFR

Q 25) A welding helmet worn by arc welder protects his ............... /ATeR gR1 Ug- ST ardl
AfET ¥efie ITS! ... I FEET R

1) Head RR

2) Face @ET[

3) Eyes/&\fa

4y All of these/ T Tt

Q 26) Two methods of starting arc are shown below. What is called the method: (a) shown
on the left (b) shown on the right? W%W%Eﬁ Wb = GQIiQ Ry %I (a) E{IQW
ﬁﬁﬁsﬁ?(b)wwaﬁfﬁﬁﬁwmm%

1) (a) Scratch start (b) Tap start /(a) ¥hd W (b) U TS
2) (a) Match start (b) Tap start /(2) 59 TTE (b) U WIS

3) (a) Scratch start (b) Touch start /(a) ¥hd WIE (b) T WIS
4) (a) Quick start (b) Slow start (a) f&® W< (b) TN TIE

Q 27) The length of the arc in welding should be approximately ........ GG EIE]

ST TTHT ... BT =feT

1) Equal to half the diameter of electrode wire/gaa@g IR & I & Y P SRR

2) Equal to the diameter of electrode wire @3@3 IR & A &b SRISR

3) Equal to 1.5 times the diameter of electrode wire @5@3 AR & AN & 8¢ ﬂef &
ENER

4) Equal to twice the diameter of electrode wire @ﬁ?ﬁﬁg AR & AN & aﬂ%f & RIS

RreT OR TeTdion ... TOHT UR Serdl &
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1) 2050° C
2)2250°C
3)2450°C
4)2750°C
Q 29) Figure below shows checking the leg size of a weld with a ...... SIECACER: -2
SIRT U des &1 ol IISH ! olid &1 715 6|
Testing for proper
leg size
; i —.l\ 1/2 {_L(J
. L [ : - i __,:]___
=

1) Weld pattern AT Ui
2) Weld gauge IGIERIS
3) Weld meter /ATS HieR
4) Weld leaf/des At

Q 30) The property, which enables a metal to stretch, bend or twist without cracking is

........... /a8 TOT S 4T 1 g fo T Wiem, Hiew a1 ¥ B 9em s 8, I8 8.

1) Toughnessfqﬁl@?ﬁ

2) Malleability /8¢ &1 Ggdl
3) Ductility /SdIcTg-

4) Hardness /o Ral

Q 31) A welder qualification test is meant to verify ............ /ATER DI AT TR .........
&I I 3 & TSR R

1) Quality of materials /Ol%g&ﬁ D uIddr
2) Manufacturing methods

N EN
3) Skill of the welder /dGSY P D[R

4) Non-destructive test procedures AR faTreert uieror ufgar
Q 32) Which of these is a non-destructive test? R Kl DI T TR-fFre R wieror %‘?

1) Impact test /3{TeTd URI&0T

2) Tensile test /. dATIAT GRI&0T

3) Nick-break test /M-8 <X

4) Dye penetrant test /S5 FHIIGR URI&01

Q 33) What will be the defect in the weld if fusion does not take place up to the root of the

weld? /AfE 9TS BT IS d TaT- To! o1dl § dl des H als T R

1) Weld metal becomes oxidised 1G] YTg ol SRR RUT BT ST
2) Lack of penetration /A% DT B

3) Cracks / IR
4) Porosity /AU
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Q 34) Unit of power is .................. TR P IPTS ............ g

1) Volt /alee

2) Ampere /TR
3) Watt /dIc

4) Ohm /3119

Q 35) What should be immediately done when a cylinder is found to be leaking due to

defective valve?/¥RTd dTed & HRU Ridiex T RE1d 811 IR gid &1 foar s =nfgee
1) Inform the supplier /G‘W Dl ﬁﬁlﬁ DA AT

2) Take help of co-worker to fix the problem /HHI DI Bldh PR B 1%1? Hsd”)l-ﬂ-ﬁ Haa
SEIEIIY

3) Move the cylinder to a safe place IREERE:Dl Wﬁ?f\&lﬁ olilg IR o ST ElT%'E

4) Try yourself to stop the leakage /@T{Waﬁ §G PR BT TANI DAl A6 T

Q 36) There are basically .................... types of oxy-acetylene flames. /3{ierl-uRfeet (i
TATUY o UHR &I gl 8|

1) TWO@

2) Three IGIGH
3) Four /AR
4) Six /9%

Q 37) An oxy-acetylene flame which is deficient in oxygen is ............ / W—Qléléam i

[ SHTRISH HH Bl 8 B .. FEd G|

1) Neutral flame /3G o

2) Carburizing flame / W 4l
3) Oxidising flame /3{TeRftBr &t
4) Standard flame /HIHh i

Q 38) Which flame can be harmful to steel? /@19 Ul & T & forw gIEHRS 81 Tobd! 82

1) Neutral flame /3G 4l

2) Carburizing flame / EF@TUT i
3) Oxidising flame /3{TeRfteBor &t
4) Standard flame /HI- i

Q 39) For brazing, soldering and flame hardening, which flame is used? / CEZRSR IIeI,
1 % A & oI, T <l 1 ST o T 52

1) Neutral flame /3G 4l

2) Carburizing flame / EF@TUT i
3) Oxidising flame /TR0 Y
4) Standard flame /HI-h i

Q 40) What is the chemical formula of acetylene? I CNIR AR IRIREY gA I %‘?
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1) C: Ho
2) C> Ha
3) Cs Ho
4) Cs Ha

Q 41) The basic principle on which gas cutting is based, is the principle of Warskarulice|

o Rrid R Smeia §, 39 ...... 31 Rigid F8d 8

1) Reduction Rea—H

2) Oxidation /3{IeRITHUT
3) Melting /Tl

4) Carbonising

Q 42) The slot formed on the plate by gas cutting is called ................. A B GRI@E IR
T AT WAC BT ..o E SIS

1) Groove @t
2) Gap /3{d_Td
3) Bevel /Jld
4) Kerf/dIc

Q 43) Powder cutting is a special gas cutting process in which powder used is ........

USRI, 1Y BT &1 Uab [y ufeha g Forad IudivT &t o areft umse% ........
1) Aluminium powder /Q?Iﬁﬁﬁ'm:{ grds

2) Iron powder Kfﬁ_s' U3 s
3) Copper powder /dTdT T3S
4) Tin powder e U8R

Q 44) In a DA cylinder, acetylene is dissolved in ................. / ?ﬁ’Q RINER ﬁ, QI%”EE“:I
................ ERIKIESIGI

1) Petroleum jelly ﬂ?lejﬁmﬂ Sielt
2) Kerosene oil /&@Qf H1dd
3) Acetone /QF”EEFI

4) Mercury /URT

Q 45) Oxygen cylinder is painted ............ and acetylene cylinder is painted ....... EICRISE]

RIAER T T8I § 3R TR Riefes............ T HTEIA B

1) Black; Maroon /Tl H=
2) Black; Red /&TdT; <l
3) White; Maroon /ﬂ'eb_c{; A
4) White; Red /ﬂeb_d; NI

Q 46) How many preheating orifices are normally there in the tip of the gas cutting torch? /

g BT 7T B Al R TG =Y F fraa hidfen gem gla &2

1) Only one/Rth U
2) Not more than 2/2 I 3fH 7‘|€[
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3)4t06/4 6
4) At least 8 /HH I HH 8

Q 47) What gas flows through the cutting orifice of gas cutting torch? A BT Hd &

P a1 YeT o B It 719 F8d1 82

1) Pure oxygen /R[& iRt

2) Pure acetylene /[ uRyfee=

3) Mixture of oxygen and acetylene but with more of oxygen / HTRfIo 3R uifeet &1
foryor fora# sileRitor 3ifde g1

4) Mixture of oxygen and acetylene but with more of acetylene/ TS 3R uffeey &1

fhrsyor forad wifechi= oifdies 8t

Q 48) Which fuel gas is used if cutting deep underwater is to be done? afe e U g
el DAL dl Tl S 719 BT SUART (b3 ATl g2

1) Acetylene/ YRITIE
2) LPG/TdIYTSi
3) Hydrogen /Blﬂg ol

4) Propane

Q 49) When gas cutting is being done the nozzle should be kept ......... / T BT FRd
THG AT B ... RERIEl Y

1) Almost touching the workpiece /AHUIY BT TTHAT E?ﬁ Y

2) About 2 mm from the workpiece [AHUT I TIHT 2 T )
3) About 5 mm from the workpiece [AHUT I TIHT 5 Tt )
4) About 10 mm from the workpiece [AHUT F FIHT 10 Fft R

Q 50) Joule is SI UNit Of .......eeeeeerereeenennn IS (S DI T3S 3PS ¢ |
1) Heat /HBHT

2) Temperature /dTUHTT

3) Thermal conductivity /AT41T ATcTehdl

4) Thermal expansion / GICIEAGESIH

Q 51) Why should synthetic clothes not be worn when doing gas cutting? A Bl ®

g Ridfesws HUS &I Al Ug dAled?

1) They are too expensive @[ ggd 'J:I_Ea'ﬁ aﬁ %

2) They create an electric shock hazard /B_Flﬁ foroTety % %ICa’? ¢l I:I CARERREREI %

3) They easily catch fire /d ST 31T Uhs od %

4) They are energy absorbing which creates health hazard /3 Sl SN Rl % St
W & o @R Yeravd &

Q 52) A piece of metal which breaks easily is said to be .......... / YId Pl dg gh Sl SIREIRIGI
TS FHEI AT g |

1) Tough [HER
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2) Brittle /HTR
3) Ductile /®THd
4) Malleable /Adtall

Q 53) An electric arc produces these rays, except ........... /b w KT &
Ryara 3 fovoll &1 I FraT 5 |

1) Ultraviolet rays / RIS fpo
2) Infrared rays /3dRdd ool

3) Visible rays /€9 '

4) Gamma rays /TTTHI ool

Q 54) Which of these is an alloy? E:I'Ef J D s Oy Yrd %?

1) Tin /fc9
2) Brass /dtad
3) Lead Jesicsl]

4) Aluminium /Q?Iﬁﬁ’qﬂ

Q 55) Which gas among these gases is supporter of combustion? / - T H Y HE W g
&g | 9ER® §7

1) Hydrogen/BI%E- ol

v

2) Oxygen /

3) Acetylene/ uffeeH
4) Carbon dioxide / BT SRS

Q 56) Which defect is caused in a welded joint due to entrapment of gas? / afeaT fh U Y
. AN N
SIS H 19 & B & BHRUT S IT 5IY I 8Idl 82

1) Lack of fusion /&g o
2) Crack /@R

3) Porosity /AR

4) Undercut [HHSIR Gﬁ‘s’

Q 57) The material which can be easily gas cut by an oxy-acetylene torch is ............. forg

gt ol Siia-uRafed= A=Ie gRT 9 T SO A BTl S HAT 8, T8 G ... |

1) Aluminium / TegHITH
2) Stainless steel [ WId

3) Carbon steel AR RN
4) Copper-nickel alloy IGICIAEEISAEE)] Yrd

Q 58) It is safe only if you light oxy-acetylene torch by ............. / SHiRT-uRIfee a=md &
............ GRT ST 81 JRferd | |

1) Striker RgIgPR
2) Matches G
3) Electric arc /ﬁ_d'ﬂ?f 3T
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4) Cigarette lighter/l%l‘ R oflgcy

Q 59) How is the capacity of a welding machine specified? /[ AfcET A=A BT &
forg TR My 31 &t 52

1) By its open circuit voltage m @ﬁ gy & dieedl gRI

2) By its closed circuit voltage /39 s URTY & dleeol gRI

3) By its input current in Amperes / si-lab <TYc dHIC (QTEﬁ'CITED gRI

4) By its output current in Amperes / $~Hab 3T3cYc BHC (QTEﬁ'EITfD gRT

Q 60) What should you use to clean gas cutting torch tip orifice?/ AT T AT B A

R YT 35 &1 1% B & folE 3MTuen! fosgasT SUTNT ST A1ige?

1) Steel wire/Td BT AR
2) Drift

3) Copper wire /did BT dR
4) Tip cleaner /U iR

Q 61) How should a gas cylinder be shifted if trolley is not available? afg _g‘yl?ﬁ SUds |
g1 dl 71 Ricier &1 {8 YR WA foam S arfgw?

1) By draging /a9IchR

2) By rolling /J@hTh

3) By tilting and moving /gJPIPX feara Y
4) By pushing /YT PR

Q 62) A system in which a number of gas cylinders are connected to a common outlet is

called ............... /g ToTTeTt forTH @8 1 Ricie) U g 3deace 9 9IS 8id 6,
<L A HEI A 5|

1) Manifold system /EEW PIYIK]
2) Group system /HHg

3) Series system /"j"@ﬂT PYIK]]

4) Joint system Eﬁ%’ P

Q 63) What happens if the arc during arc welding is kept too long? / gfe 3 afcs T &
DI Sgd diaT T S dl & g

1) Arc becomes unstable /30Th AR Epf NI %

2) Metal deposition is right /4Tq T STHI w Eﬁ?ﬂ %
3) Burning of electrode is even / RCIdglS HHIT =Y Y ST %
4) Wastage of electrode is more / R¢ld¢lS [ HUHY W@Tﬂ%

Q 64) Why are mild steel filler rods coated with copper? Gk XA W19 B @33[ CAGICK]
1 i foba S g2

1) To avoid rusting / SI¥T EEEIECANY
2) To increase strength of welded joint AT SIS P &l del- & fam
3) To avoid weld defects /3feET & Nl Bl aX & o forw
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4) To increase speed of welding IGIRuCiRIGED] Wef & forg

Q65) What is the purpose of normalising heat treatment process? / 3 SHI SUTR PIERIKC]
'HIJ-II'LII?CI R BT d‘EHLl W%‘7

1) To remove induced stresses / URd ara &1 X DAl

2) To improve machinability / R o GYUR hRAl

3) To soften steel /ACTT P RH HRAT

4) To increase toughness and reduce brittleness /2GdT B! FGMT 3R HRAT B HH BT

Q 66) What is the function of gas regulator provided on gas cylinder? A AR R fou
T 1Y Tgcier &1 B 1 72

1) To get different types of flames/fafHT UHR Y & UIed B & fog

2) To mix gases in the required proportion /3{dRYdh JUId 4 ﬁ@f & ﬁ[%I'UT & fom

3) To vary the volume of gas flowing through the torch /HRITcT I gl dg- arlt T !
A URafdd B3 & forg

4) To set the working pressure / F & gad B FufRa s & fa

Q 67) The process of producing a groove in the surface of a component or weld by means of

oxy-acetylene flame is called ............. / Sidl-uRifee= AP ACS I U Uceh 1 dE Bl
g B Wi s B iR dBY HET I &

1) Slotting /&

2) Penetrating / e

3) Gouging

4) Undercutting / 3D

Q 68) In which position, it is easiest and most convenient to weld? / ST ST fobw AT
T Y M 3R TaY AU gidl 82

1) Flat position /HHd T fRfa

2) Horizontal position / afas fRufa

3) Vertical position /&' eafer fUfd

4) Overhead position RR & IR oI R

Q 69) What factor is taken into account when selected the size of nozzle for gas welding?/

T I & N A9 & MBR & T P THY fbg RS ol &0 | I W1 82

1) Melting point of flux used / 3@% ﬁﬂl U I B TA-ID

2) Melting point of filler material used m Pl Tl_sc RTd T &1 T

3) Melting point of base metal to be welded/dfcETT &1 ST TTEH YR Yrg ol USEIGT
4) Temperature of the flame being used /SUTNT B ST g! N BT AIHH

Q 70) Gas cuttlng blowpipe is made out of .................. /g BT H YRt &) S arelt
BB . CARCEIRGIK

1) Copper IGIEL

2) Brass
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3) Aluminium / TegHI=gd

4) Bronze /Tl

Q 71) Preheating is necessary when copper plates are welded by arc to compensate the

effect of its high ........... /SIS TS D1 We) B 31T gRT AT foban Sirar § difs 39%
AP .. P JHTT T HRUTS I ol Tob ol Ugd I TTH HRAT 3ATaRIH ¢ |

1) Thermal conductivity /AT4IT ATcTehdl
2) Melting point AT
3) Expansion

4) Ductility /e

Q 72) What is the technique employed in which a number of thin sheets are gas cut at a

g%?%mwwuﬁmmﬁﬁﬂ BT I Tl § al DI AT dbiih TS
?

1) Group cutting /U HicT
2) Stack cutting BT

3) Pack cutting A BT
4) Bundle cutting /IS¢l P

Q 73) Oxygen Cyilnder is painted ....../ o Riciex & LUK IGI %I

1) White/I%hg
2) Black/chTcll
3) Red/dTd

4) Maroon/H¥=

Q 74) An oxygen cylinder has the capacity to store ....../ Udh ST Ricler &t
RIECERECIFERIR G

1) 5 cubic metre gas/5 Y e
2) 7 cubic metre gas/7 YU e ™
3) 9 cubic metre gas/9 Y- e
4) 11 cubic metre gas/11 Y e 1

Q 75) The valve %ocket of oxygen cylinder has ...../ Uh T Ricler & dTed Hide H
Bl gl

1) Right hand threads/GT¢ 8T g IEEH
2) Left hand thrads/STT 8T
3) Multi-start threads/dg-URH Q!EZII

4) None of theseE_fI'E[ ) aﬂé b} :Ié)[

Q 76) The storage capacity of acetylene cylinder is ....../ QF‘“E(_'“:I Riciex &I T &l
&l

1) 5 cubic metre gas/5 Y- e g
2) 6 cubic metre gas/6 Y- flex g
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3) 7 cubic metre gas/7 Y- e
4) 8 cubic metre gas/8 Y- flex g

Q 77) The regulator fitted on oxygen and acetylene cylinder has/ SRt g TRifee
RIS IR S Welex @ 81T 8, ST g gl

1) One pressure gauge/Tdh Gdld US|

2) Two pressure gauges@ CICKI]

3) Three pressure gauges/di- G&Td TIoT
4) Four pressure gauges/dRR qdld i

Q 78) What is NOT true about hose p1pe which carries gas from regulator to blowpipe?/
WeeR T et adb T & S a1 TR U1sy & fawg & o1 9 g1 82

1) It is strong/dg Udcl Ea_dT %

2) It is brittle/dg 'J-I'{'R _Eﬁ?ﬂ %

3) It is flexible/Tg T Bl &

4) It is made of canvas rubber/dg FTaY RdS LR _Eﬁ_rlT %

Q 79) The blowpipe should be lighted with ....../ bt Bl T ST S
Sy

1) Spark lighter/[RTIR} aTell Aiger
2) Match stick/ATR &1 fored!

3) Electric arc/f/dgdd 3T

4) Any of these/3TH I Tﬁé i)

Q 80) To check gas leakage, it is safe to use ........... / g Rara &Y Sifeq & fa
BT TN AT R 7 |

1) oil/dd

2) Grease/Jtol

3) Soap water/HIg P g
4) Kerosene/&@o[ P ad

Q 81) Oxy-acetylene cutting is based on the principle of ..../ SR QI%”EEH:I Carall
Rgid TR seRa g

1) Oxidation of metal/8ITq T SHTRHIUT
2) Reduction of metal/¥Tq Il :CfﬂWUT
3) Melting of metal/¥Tq T ITelq

4) Burning of metal/¥Ulq Pl a1

Q 82) The chemical process that takes place during oxy-acetylene cutting is ..../ TeRiTST-

TRIfee ST & gRM S I Ui afed gl 8, a8 8 —

1) Exothermic/3SHT adt
2) Endothermic/3SATRITHT
3) Isothermic/FHATG!
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4) Isothermal/AHATGIT

Q 83) Why is actylene widely used fuel gas for gas cutting?/ ufafeet= TR BT d
foTT Ty SaTeT Uged g1 arell SeH T 82

1) It gives hotest flame/dg Taifde TH A ot %

2) Flame can be precisely adjustedﬁﬁ 3P UHR I TSI DI ST Febelt %

3) It is easy to maintain constant working conditions with it/ iN-Iab 1Y qad ST 20 oY
G S &

4y All of these/ T+

Q 84) The process of removing a narrow strip of metal from the surface of steel plate is

%aued..../swld @Ic & qdg W YT BT AP0 UGt Bl g B1 Wiehdl Sl
|

1) Gatingﬂﬁﬂ

2) Gouging

3) Slotting/ATHIUT
4) Piercingﬁ Y

Q 85) In powder cutting of cast iron, the powder used is ...../ W\fffﬁ% P USSR BT H
o USSR TYa BT ), d8 & —

1) Aluminium rich powder@?{&lﬁm YH& USSR
2) Iron rich powder/3TgT HHg U3 SY

3) Nickel rich powder/ﬁw TH& UI3SR
4) Copper rich powder/dld] YH& U3 SX

Q 86) When one metre or more thick metal is to be gas cut, what is used to extend the depth

of cut of an ordinary cutting torch?/ wwﬁammﬁ%ﬁmﬁﬁﬂﬁﬂﬁw
g, Ol U TR BT T & e DI TexTs Dl 9gM o ol o Ygard fopat

1) Oxygen conduit/ RICNISE] W
2) Oxygen barrel/3{TaRITo SR
3) Oxygen lance/ 3RS T
4) Oxygen tube/3{TFHT

Q 87) If gas cutting is to be done deep under water, fuel gas used is/ gfe TR U | e
T S 3 S 3o 79 Tga g a8 § —

1) Propane/Td=
2) Natural gas/ﬂm eS|

3) Hydrogen
4) Acetylene

Q 88) A file is provided with a protective metal ring to prevent cracking of the handle. What

is this ring called?/@ﬁ@ﬁﬁﬁﬁ%ﬁﬁ@ﬂ?&@ U@Wﬁﬂﬂﬁ@?ﬁ%l g
B Heard s —
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1) Strip/ngf

2) Ferrule/5rod I1 g &1 Sl
3) Cover/3{TdRT[

4) Band/Ug

Q 89) A file having individual, sharp, pointed teeth is called .../ g dI forge fafdry, 43 ar

I@Id ald BId &, Pl § —

1) Single cut file/Udh <l He Xt

2) Sharp cut file/TUY IEISIREG]]
3) Rasp cut file/HICT B Jail

4) Curved cut file/dsh He Xt

Q 90) If soft material is to be filed, what will you prefer to use?/ gfe fpedt A urd
il ¥ DTS ST 81 ol 31U AT TG BN

1) Single cut file/Uhcl Fe Yt
2) Double cut file/GTg<T e !
3) Curved cut file/dsh He dl
4) Rasp cut file/ATeT C it

Q 91) The base unit of length as per Sl is ..... /Qﬂﬁlﬁ({ﬁ?a’ﬁ&ﬂ@qm%mﬁ
TETS DI MYR SHB & —

1) mm/fo 4.
2) em/A 1.
3) dm/S H.
4) metre/HICR

Q 92) A cut is to be grooved as shown in figure below. Which chisel should be used?/ GE|
fodl & AR Ue e P VIAGR 1 § | STH DI 11 e 1 SIEai?

1) Flat chisel/ T &1

2) Cross cut chisel/sh1g HC &1

3) Round nose chisel AT AT &+t

4) Diamond point chisel/ART ]%ﬁ EX|

Q 93) Fine - pitched hacksaw blades are best suited to cut/ 3P IHR W & Y %WT@_S'
@ Ble F T qad ST § |

1) Thin section metallic pieces/Tdd TS Yrd & gﬁ
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2) Soft metal pieces/IRH ¥UI] & m
3) Broad section metallic pleces/aTW s Y1 & m
4) Non-metallic pleces/ﬁT ‘c'ﬂﬂ

Q 94) A drilled hole is to be finished. The tool used is ..../ T fgdl {5 o1 ufeapd fava
ST 8, ST SHISIR et BT a8 © —

1) Tap/%'q

2) Die/ST8

3) ReamerRITAR
4) Drill/fSd

Q 95) A steel rule is a ....../ T SETd AT gar el

1) Direct measuring instrument/Yd& AT 3UDH T
2) Precision 1nstrurnent/'q?ﬂ?aﬁ:|szr LE|
3) Checking instrument/SITd ST
4) Marking instrument/3{p= SUDHIUT

Q 96) Identify the type of acetylene generator as shown below./ = faamar mar wfafedt=
SIFRCY I Y UHR B 62

1) Carbide to water generator@lafg_ér I UM SFReR
2) Water to carbide generator/CI'IT'ﬁ | wldfiis SIFReY
3) Carbide and water generatormﬁﬁs_é CRCIRIRSERGR
4) None of theseﬂ_"lﬁ I ﬁ‘s‘ '_-|_6°[

Q 97) It is a cylindical device which is used to protect acetylene generator from flashback

and backfire dgring welding. What is it?/ g Udh dcfqIh R JUDH U] %Gﬁ QI%IIE(_'“:I SeR
. ENEEEN fa

&1 AfeET & SR FIRIe® g YldsaeH 3 9a1dT § | I8 &1 87

1) Pneumatic back pressure safety valve/drgdId Uy qId &l dled
2) Hydraulic back pressure safety valve/cddllcid UY qld Y& died
3) Mechanical back pressure safety valve/difAd Uy qrd &l dled

4) None of these@zlﬁ I aﬁé 7‘|€[
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Q 98) Which of these properties is NOT true about oxygen?/ 371'1?[ q HT 1IUT‘&I'JZCI
STeRiTo 1 g &7

1) It is colourless/dg Q‘Igm %
2) It supports combustion/dg Gg-l UINC2 %

3) It is not combustible/dg GgIRid H@?%
4) It is highly soluble in water/Tg Ut H 3= a-T=0d &

Q 99) At what temperature does oxygen becomes liquefied?/ g A | Mo
dRcligd &l Sl 82

1) Minus 102 degree Celsius/<J1dH 102 IEPIRIRES]
2) Minus 152 degree Celsius/~AdH 152 IEPIRISIRE]
3) Minus 182 degree Celsius/<J1dH 182 &t Afc’rmg
4) Minus 202 degree Celsius/~"AdH 202 ot Afc’raa

Q 100) A gas cygnder is painted blue. It contains ....... / T 1 Ryciex & =fiar T T %I
4 !

1) Hydrogen/%’l%@ﬁ:[

2) Air/gal

3) Argon/3{H

4) Carbon dioxide@fa&[ G'IEG'I'Taﬂng

Q 101) Oxygen is stored in cylinder under maximum pressure of/ JiRio U Ridiex &
SfRaH ATIHM TR Tfed &1 SiTelt 3 |

1) 125 kg/square cm/125 .o/t a.
2) 150 kg/square cm/150 o o /a 9.
3) 175 kg/square cm/175 o o /a 9.
4) 200 kg/square cm/200 o /et Q..

Q 102) Figure below shows a component which is fitted at the bottom of acetylene cylinder.

What is it called? 779 fom TRifeei= Riciex & a@ & &1 U [Ro! &1 <=1idl 5 | I8 &1
Heard g?

1) Support plug/ﬂ'th_éF ol
2) Base plug/3TYUR Wi

3) Fuse plug/®sl &I
4) Retaining plug/YIRUT Wl

Q 103) The storage of acetylene gas in gaseous form is not safe/ Qitllé(_'ﬂq 9 BT Y
SaeyT | & ded P& TS R

1) Under pressure above 1kg/sq. cm/1 fo o1/t M. 9 et garg & dgd
2) Under pressure above 2kg/sq. cm/2 & .am/a a3 ifds qaa & dgd
3) Under pressure above 2.5kg / sq. cm/2.5 .1/t Q.. 31 gaa & ded
4) Under pressure above 3 kg/sq. cm/3 B/t m sfie qea & ded
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Q 104) For safe storage, acetylene cylinder is filled with/ w&‘lﬁ BERE:Y for, ufdfeen

Ridex 3 J WIS B |
1) A liquid/dRa@
2) A semi-solid/3fg 31T

3) A porous material/ARY gard

4) None of these/3TH H DIS o1

Q 105) If gas leaks from valve or safety plug, then immeidately/ gfq dred a1 &l W S
NAeg aaqd

1) Try to repair yourself/\’rl'qef forg ﬁTf\&‘l?f S1Tg @%’

2) Call your co-worker for help/ 3(U= 1T & Hag & forw w
3) Inform gas suppher/ﬁﬂ TEIRR Bl ﬁ[%l_d Gy

4) Move it to a safe area/3T! fal E\’f\&lﬁ R IR A 1Y

Q 106) What causes trasfer of metal across the arc in electric arc welding?/ ﬁ_c{ﬂﬁ 3
AfETT T oTq PT 31T & UR Bl S &1 T HRUT 82

1) Gravity @Bl

2) Surface tensin/UYg d-ld
3) Electromagnetic force/[dggadad g §a
4y All of the above/d THY
Q 107) If electric arc deviates from its regular path, it is called/ afg fa?{ga 3T 3T
fFafdoydge e, Mag . Poais
1) Arc disturbance/3(Td ST
2) Arc diversion/ 31 afkadH
3) Arc blow/3{Td HT
4) Arc bending/w dh-
L. 1 Answer key
Question . Question . Question . Question .
No. Option No. Option No. Option No. Option
1 2 31 3 61 3 91 4
2 2 32 4 62 1 92 3
3 1 33 2 63 1 93 1
4 1 34 3 64 1 94 3
5 3 35 3 65 1 95 1
6 3 36 2 66 4 96 1
7 3 27 9 A7 2 a7 "
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8 38 3 68 1 98
9 39 2 69 3 99
10 40 1 70 2 100
11 41 2 71 1 101
12 42 4 72 2 102
13 43 2 73 2 103
14 44 3 74 2 104
15 45 1 75 1 105
16 46 3 76 2 106
17 47 1 77 2 107
18 48 3 78 2

19 49 3 79 1

20 50 1 80 2

21 51 3 81 1

22 52 2 82 1

23 53 4 83 4

24 54 2 84 2

25 55 2 85 2

26 56 3 86 3

27 57 3 87 3

28 58 1 88 2

29 59 4 89 3

30 60 4 90 1

Gas cutter L 2
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Q 1) The defect in the welded joint as given below is indicated by arrow towards tiny spots.

What is this defect called? @Em@mﬁmﬁwﬁvﬁmw%l ERSI
@ﬂﬂﬁwﬁﬁ%‘?

- 0T P 2B Te & &

1) Blowholes SRS

2) Spatter G

3) Porosity /AR

4) Slag inclusion /YTgHT TG

Q 2) A workpiece after welding became distorted as shown below. The type of distortion is

..... /AT GRT Y o & SR, dfeST o §1a Ueb IehUi faepdl 81 T | 3 faigpict b

1) Rotational distortion /Q:Uh m

2) Buckling distortion /fdwe fapfa
3) Angular distortion Cawie] m

4) Longitudinal distortion /d&dd ﬁ?ﬁf

Q 3) Which of these is NOT the purpose of annealing of metal? / ERCES| EaCks| Yrd &

TR 1 I3 a1 87

1) To remove stresses within the metal /UTJ & HieR a1 Bl G DAl

2) To soften the metal /UTJ DI RY FHT

3) To give the metal a homogeneous grain structure /YUTq DI Gl B TSI DT T
4) To make the metal brittle /AT BT HIR FHT

Q 4) The most common type of cast iron which is relatively weak and brittle is ............ /

Sl TIeT BT Jo 3T YR ST SUETHd HHOIR 3R HREIAS ...........

1) Grey cast iron /HXT aﬂa‘f?ﬁa

2) White cast iron e aaa‘f?ha

3) Malleable cast iron /Fﬁﬁ?ﬂ aaa‘f?ﬁa
4) Nodular cast iron ANEaR W\TI@BT

Q 5) For welding steel plates of thickness more than ............... it is usually more economical

to use arc welding in stead of gas welding./...... T 31fdw ﬁ?ﬁﬂﬂ@ﬁ@ﬁﬁéﬁﬂ%
fTT STHAR TR 1 e & ol 3f7eh AfeET 1 IUART 31 &

1) 3 mnv 3 fot
Z)Smm/Sﬁﬂ:ﬁ
3) 8 mm / 8 ot
4) 10 mm/ 10 Foet
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Q 6) What is the function of regulators attached to oxygen and acetylene cylinders? /

SRR 3R TRifeef RicleRl ¥ g Wgoied &1 s &1 g2

1) To reduce cylider pressure to suitable working pressure/WI'Cf & fog SUYdd qdld & forg
Pl qdld D H DRI
2) Hold the pressure constant regardless of the size of the flame used /Q¥AHICI P S dTeit

P MHR P A9 G TTE IGT
3) Both To reduce cylider pressure to suitable working pressure and Hold the pressure

constant regardless of the s1ze of the ﬂame used /BT & ﬁm SUYdd qdld & 1%1? RyfeieR
1 A1 HH HRAT 3R FITAATA P! ST dTell o & MHR & SIaog Ga1d g8 G I

4) None of these ST A DTS T8l

Q 7) Acetylene is quite unstable at pressure over ................. and can explode violently if

subjected to shock or impact. / L€ 31 Fer] = NS ¥ 3{fUF GG IR BB SRR G STl
& 31 3MTETd a1 TFDR T TR e [ITpIC 51 9hall 5

1) 132 kPa
2) 152 kPa
3) 172 kPa
4) 182 kPa

Q 8) The test which makes use of sound waves is ............... /a8 TRIefur forgH &af= el &1
WM EIAT 8 T8 B.......

1) Radiographic test Rfsamithe aRiem
2) Ultrasonic test /3TN URI&0T

3) Dye penetrant test IS YHIAGR gRi&n
4) Magnetic particle test F’:ﬁﬁ’q BT GRI&T

Q 9) Fatigue testing is used to test welds under ............. /BERT URIET0T T IYINT é?s}r Eal
....... & Ted Tien 3 for g 3

1) Dynamic loading [aforg ST
2) Cyclic loading AT AT
3) Tensile loading /d=<ddT ;

4) Creep loading /P1g ST

Q 10) Which welding defect cannot be detected by visual inspection? /€Y fAteror gy
for QST S T Ul 51 T S Wbl 67

1) Overlap/ 3
2) Undercut /AHSIhC

3) Linear misalignment R ReaETHe
4) Linear slag inclusion R T FHIaRH

Q 11) Which element has greater effect on hardenability of steel plate? [T P Wi Bl
N N
HARAI IR S A1 I YD THTG ST 572

1) Chromium it
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2) Carbon [PTE
3) Sulphur /HethX
4) Molybdenum

Q 12) One of the reasons for avoiding the use of long arc during welding is that .............. /

AFCETT P SR et 3T BT ST T HA P PR A TH Ig e,

1) It increases open circuit voltage /g %3,81 gfthe &1 dlec deldl %
2) It will give lack of fusion of base metal /2P golg | 3‘|'[%FR ?ﬂﬂ & Jagd | HH1 grfl
3) The joint will develop cracks during welding AfETF 3 GIRTH \SIISI S A GRR & ol i

4) It consumes more electrodes /Eﬂﬁ 3@5@3 CARIREACER él‘ i

Q 13) Which test can be hazardous to the test operator? /I T UEI0T T 3TN &b fog
GRATD 51 Thdl 52

1) Ultrasonic test /&@@W TRI&fur

2) X - ray test /TRT-X TRIEfOT

3) Liquid penetrant test /dXel YHIIGIR PR

4) Magnetic penetrant test F\{Wﬁ’q YHIdGR BRI

Q 14) In some cases, the welded job is post-heated. Its purpose is to ...../ P& e |,
IS YT B! I TRH BT 1 8 | STBT LI BATR .....

1) Reduce hardness and brittleness /B 3Rdl 3R 'LF:R_CIT hH DAl
2) Increase hardness and brittleness /B3 IRdl 3R HIRAT ST

3) Reduce toughness /qﬁajﬁ hHH PN

4) Increase cooling rate /RITAE &R TGMI

Q 15) As shown below, thickness of sheet is being measured by a gauge called ............ ST

fob 1 2rfar a1 B, 91eR B HIeTE &) A gRI HIaT S @I g ol FEA S

tjﬁl BEC‘ iz &%

1) Thickness gauge/ﬁlﬁﬁ US|
2) Sheet gauge /Rfte ST

3) Wire gauge /dTUX ST

4) Snap gauge Y T

Q 16) If the number of passes to make a welded joint is increased, how will it effect

distortion? /Af¢ IS SIS T & foTT UM &1 WA deT <t oI, df U8 fapfa &
qUTIad S

1) It will increase distortion /g faw=gu de U]
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2) It will decrease distortion /dg fo=gu 1 BT
3) It will have very little effect on distortion /Ag faego W dgd hH YHId U
4) Tt will have no effect on distortion /39T fA=TUI TR &5 UHTT el ST

Q 17) Which type of flux covered electrodes is used for fusion welding of cast iron? ]

TAET & T i & foIe forg YR & UdTe aTel Sadels &1 ST fand STl g2

1) Basic type flux covered /Hd Ydlg P d} aral

2) Rutile type flux covered/ ¥CI3d UHR P HaTg HaR dld]

3) Cellulose type flux covered /ATESI YPHR & YdTg HaR dldl
4) Iron oxide flux covered /3R 31\IJ0R-II$S Udlg ohdX aral

Q 18) Carbon supplied by the carburizing flame makes the weld ............. /$|§h|$|\>ﬂ"| i
(o Y

GR1 3T B de8 Bl ........ T ©

1) Tough /HGIgd

2) Ductile AT

3) Brittle /HI[X

4) Hard and brittle [HBR AR HR

Q 19) The direction of welding and bead sequence as shown in figure given below is one of
the methods to reduce distortion. This method is called ..../ATd %Q R IEEE:] GQIiQ M
AT SR &8 & 3 H B! =M fET0 B HH T’ & aRibi H 9 U g

1) Back-step welding /9%y afesT

2) Planned wandering method /@IS s fafy

3) Chain intermittent welding /2 3efHe-e afeaT

4) Staggered intermittent welding / RIS gr_c'&f‘c? afedT

Q 20) The normal method of testing the purity of generated acetylene is holding a soaked
filter paper against the stream of purified gas for ten seconds. The filter paper is soaked in

................. solution. WW%ﬁW%ﬁWﬁH

1) Copper sulphate [BTIR Jethe
2) Caustic soda/PIRCH IS

3) Silver nitrate/fRIeaR :IIQéAE
4) Sodium nitrate rafEan :IIQEAE

Q 21) The portion of the base metal whose microstructure has been altered by heat of gas

cutting, is called ............ / 3TYR YT T a8 HIT FTIHT AIZhRCIR, T HcT DT TH
1 I8 W T TG, S ... EESIGI]

1) Distortion zone /[0l &l
2) Gas cut zone s HeTs ad
3) Heat-affected zone /AHBHI gyifad &x

4) Warped zone /ﬁ% &

Q 22) What is not true about plasma?/ WIleHI[ & IR | 1 99 el %?
1) It is created by superheating a gas in an electric arc / g 3@% 31 § T B s
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1IRH ODQSD SEIRIRS I %

2) It is sufficiently hot to melt all metals /dg gt ?J'Iﬁ&ﬁ P! fUga & fo IO 0 9
TRAEIATS

3) It cuts at very slow speed /Ug dgd efiet 1 @ Prean %’

4) None of these B:I'E[ q ﬁé =|'s°r

Q 23) What is that device called which keeps the parts to be welded in alignment? / afegT
3P ST aTel YT 1 TR0 H ST G a1l SUHRUT &1 T Bl STl 62

1) Welding jig /afc& e

2) Welding fixture /AT fheRear

3) Welding positioner /AfcET UISiiRR
4) Welding manipulator aAfeET ﬁﬁw

Q 24) What will happen if during gas cutting, the blowpipe is moved to and fro frequently? /
e 2N A [aY
e 1 BT & IR, Boh-1 DI IR-TR FR-IWR T S <l T G

1) Kerf will be narrow /&hIc RG] ﬁ SITET

2) Kerf will be wide /&Te ST BRI

3) Kerf will be of correct size /PhIC ?I%)[ HIY hT EﬁTIT

4) There will be practically no effect on kerf/hIc U TAEING ¥J I ﬁ‘s‘ 3R a1 BT

Q 25) In gas welding, the flux used is meant to dissolve .............. A afeET ﬁ, U bl

K1oE21c) IR I Hler o feU T & |

1) Oxides /3TRIZEY
2) Nitrides /AIRCIgSH
3) Sulphides /IS
4) Bromides

N

Q 26) What porous substance is packed inside acetylene cylinder?/ Qltllé(_'“:l RRERED
. N o~
3fex B A1 fagad uard 4R1 grar 82

1) Sponge/ L)
2) Long fibre asbestos/Ad h[gdX UdicY
3) Saw dust /A s! DI RG]

4) Lime /<1

Q 27) The purpose of hydraulic back pressure valve in low pressure system of gas welding

i$ 10 ......./ T ATCET & HH ad dTcl HuTelt H g3gITeid o URR dled T &1 3=

1) Act as a safety device /GR&T YD b =Y H BT B
2) Increase pressure of aceylene gas e 9 &1 ga1d delHl

3) Decrease pressure of acetylene gas /afafedq 19 &1 ga1d YcTr
4) Remove impurities from acetylene gas /afafee TG B! &l'QI@'QT IBCANEI

Q 28) Cyaniding and Carburising are two methods of ............. / Hls"llslré‘l 3R d’)loii.{lslr\\ﬂ‘l
............ &1 &l faferar g
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1) Hardening [BBRT

2) Tempering /AU

3) Case hardening /Y E'Iéﬁ"'[
4) Annealing /AT aaﬁ

Q 29) The filler rod used for gas welding of brass is ................ ) diad &t 1 Al & ﬁm
SN Bt S AT HRIA BS ..o EAIRI

1) Silicon - aluminium alloy/ FHfCIBI - TegHi~aw o1y erg
2) Copper - silver alloy / TIdT - Tid] BT &y a1

3) Silicon - bronze alloy /RIfCIhI - BT Y Yrg

4) Nickel bronze alloy [Apa-oian iy Y1d

Q 30) What should be done in arc welding so that no undercut is formed? / 31k afgT A
3EIHC T Y Fa & foTg 1 fobar ST =mig e

1) Use buttering run/ ST I BT T B

2) Preheat the plates to be welded /A& P O aTell Wil & Ugd & T &Y

3) Decrease the speed of welding /afcET B TIfd HH B

4) Pause for a few seconds at each end of the weave / @zﬂ_‘iﬁ & UdDH BR W PS Jhe b

ferg o

Q 31) What is the preheating temperature for arc welding of cast iron? /eaar GRS 3T

afeET & ferw hgifen aruam o giar 82

1) 80° C t0 90° C/80°CH90° C

2) 150° C to 250° C/ 150 ° C ¥250°C
3) 350° C to 400° C/350 ° C ¥ 400° C
4) 450° C to 600° C/450 ° C H600°C

Q 32) What is the current range required for a 5 mm diameter M.S. Electrode in arc

welding? / 31T AT H 5 ot oo & TH.UH. Soacls & oY SMawaes fagyq U1 &t
e 1 82

1) 90 - 130 ampere /90 - 130 THIRR

2) 120 - 170 ampere /120 - 170 TR
3) 180 - 270 ampere /180 - 270 TR
4) 300 - 400 ampere /300 - 400 TR

Q 33) Why is oxy-hydrogen flame not so commonly used as oxy-acetylene flame? / ST

ol BT STINT STHAR TR 3ToRi-uffeeti= & foramn o =g fvar sirar g2

1) Oxy-hydrogen mixture is costly / 3iTerit -_ETIE@GFT fHsor g8 %

2) It is more difficult to regulate oxy-hydrogen flame /\’Hﬁ-@ﬁ@ﬁ:{ o ! fafafia
BT B B §

3) The temperature of oxy-hydrogen flame is less than that of oxy-acetylene flame / 3iTeRAT-
EIZSISH o &1 dT9HM 3iTeRit-uRifeeia o & ga-T H HH glaT §

4y All of these /I8 g
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Q 34) The position of a weld depends upon two factors, i.e./ TP @ BT WM g HRDI IR
WRparg —

1) Weld angle and weld rotation/des 101 4 AT EI;UT:T
2) Weld slope and weld rotation/d¢S @I¢l d d¢S Q:Uh
3) Weld angle and weld slope/aﬁ P01 9 A oI

4) Weld grade and weld rotation/des 90N 4 des q:Uh
Q 35) Which of these are correct welding positions?/ E:I'Ef I oI 3 afegT fufa %?

1) Flat, horizontal, vertical, overhead/IHddI, afarst , Giaf‘c’R, ST

2) Flat, horizontal, inclined, overhead/STHdd], aﬁlﬁf , 3Td, I

3) Straight, horizontal, vertical, overhead@?ﬂ, aﬁlﬁ, G'ia'f‘iR, IO
4) Flat, horizontal, downward, overhead/HHdd, aﬁlﬁ , 3 W, ST

N

Q 36) Low hydrogen electrodes are called/ GE] 6I$§\I\SI'-I saqgls FHEad gl

1) Acidic electrodes/3&Ig 3@3@3

2) Basic eletrodes/Hd 3@3@3
3) Neutral electrodes/dc¥ 3@3@3

4) None of these/3H 9 CAE] '_'I_Eﬁ\

Q 37) The blowpipe shown below can be used to do/ BIEKAE] W Cauk:|
e 1 o bl 2|
OXYGEN
N
A VA -
| =
/N I

K N\ At

1) Gas cutting only/gbdﬂ g e d

2) Gas welding onlym g Afe o

3) Gas cutting and gas welding both/TT BT g T AfET g
4) None of theseE_flﬁ I ﬁ's‘ :|_6°[

Q 38) If 3 - 6 mm mild steel plate is to be gas cutting, what should be the size of cutting
nozzle?/ Tfe 36 LT, Yg ST TS & T BT Bt ST § Al e aTd I8 BT 3THR
FT I

1) 0.8 mm/0.8 Tt
2) 1.2 mmv/1.2 T
3) 1.6 mm/1.6 T
4) 2.0 mm/2.0 Tt
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Q 39) Which of these is non-destructive test?/ E:I'E[ I ST T o= RY TRI&T %’?

1) Visual inspction/€f¥e e

2) Leak test/RETd GRI&0T

3) Liquid penetrant test/aRel AT URI&UT
4y All of these/ T+

Q 40) W%at rays are used in radiographic tests?/ Yfsarnftre Tieror § St fHol Ugad
EISIGLG:

1) X rays and alpha rays/Ud d 3{clb] ol

2) Alpha rays and beta rays/3{cthl d et foxol
3) Beta rays and gamma raysfanT CRIEIRCR|
4) Gamma rays and X rays/TTTHI d U] fol

Q 41) Why are mild steel filler rods copper coated?/ Hg ¥UId HRId NEEIGICEER
o STl &2

1) To conduct heat faster/SHI & ool I AT &b %I’Q

2) To improve joint strength/ﬂ'ﬂa?ﬁ Gl ﬂ\_rng\T‘ﬁ Gl {[‘Eﬂ'\’e[ o ferw
3) To prevent rusting/GiT[ EEEIREYD fa

4) To improve appearance/fé@’la_cr ﬁ%I'R%T & forg

Q 42) What should be used if leakage in acetylene connections is to be checked?/ i

uRifedti= oivst & fuma @ Sita 1 81 < 1 Ugad o S

1) Soap water/HIg T qH!
2) Fresh water/dTSll qr

3) oil/dd

4) Kerosene/&l@ A

Q 43) A metal can be draw into wires. This property is called/ T UTq CAGINEECIEI
gl g | I8 U Heard g —

1) Malleability/TeaTdad=ardm
2) Ductility/d=ddl

3) Toughness

4) Brittleness/HRdl

Q 44) Chemical formula of calcium carbide is ..../ BT HIETSS BT IARAD el
gl

1) CH2

2) C2H2
3) C3H2
4) C2H3

Q 45) What is shown in figure given below?/ BEACLRIEE R ] RIDIRID | %?
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4
[ 47
[f/,- .
1) Steel rule/3TTd YA

2) Try square@lg aif

3) Protractor,
4) Gauge/h\_ﬂ

Q 46) In an arc welded joint, fusion has not taken place upto root of the weld. What is the

defect?/ TP 3T ATS WY H, YT A6 DI OIS db gl g3 ¢ | T8 Y 132

1) Lack of fusion/Ierd &1 HHT

2) Lack of penetration/a U= DI HHl
3) Porosity/AEdT

4) Undercut/3{¥:hIc

Q 47) Which heat treatment process reduces brittleness and improves toughness?/ DI

W1 IUIR YT HRAT 1 HH d HARdT Bl 3l BT 82

1) Annealing/3THATO
2) Tempering

3) Case hardening/J¥
4) Normalising

Q 48) What defect is there in welded joint shown below?/ - f&aTU 7Y de8 Agad T 1
ALY

1) Crater/dg
2) Blowhole/&¢

3) Undercut/3{Y:hIc
4) Porosity/IXYUdT

L. 2 Answer key

Question No. | Option Question No. | Option
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1 2 31 2
2 2 32 3
3 4 33 4
4 1 34 2
5 1 35 1
6 3 36 2
7 3 37 2
8 2 38 1
9 2 39 4
10 4 40 4
11 2 41 3
12 2 42 1
13 2 43 2
14 1 44 2
15 3 45 2
16 1 46 2
17 1 47 2
18 4 48 3
19 1

20 3

21 3

22 3

23 1

24 2

25 1
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26 2
27 1
28 3
29 3
30 4

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=51 32/32



